Bellwork Alg2B  Wednesday, February 7, 2018

Give 4 possible measures of each angle in Standard Position.
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3. Find two positive and two negative coterminal angles for this angle: 6 = —-1250°
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4. An architect designing a roadway plans to use solar-powered glass panels of equal size in the design.
The architect estimates a 20-mile-long road will use 30,000 panels equally spaced. At this rate, which of
the following equations represents the number of solar panels, P, for a road that is m miles long?

A. P=20m B. P=1500m C. P = 30,000m D. P =20m+ 30,000
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4. An architect designing a roadway plans to use solar-powered glass panels of equal size in the design.
The architect estimates a 20-mile-long road will use 30,000 panels equally spaced. At this rate, which of
the following equations represents the number of solar panels, P, for a road that is m miles long?

A. P=20m P =1500m C. P=130,000m D. P=20m+30,000
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